

CRITERION III RESEARCH, INNOVATIONS AND EXTENSION

3.3	Research publication and awards
3.3.2	3.3.2.1 Total number of books and chapters in edited volumes/books published and papers in national/ international conference proceedings during the year

INDEX

Sr. No.	Content	Page No.
1	Self-Declaration	3
2	Book/Chapters published by teacher in academic session 2017-18	4
3	Book/Chapters published by teacher in academic session 2020-21	5
4	Book/Chapters published by teacher in academic session 2021-22	7

ARTS & COMMERCE COLLEGE

Warwat-Bakal Dist- Buldana

Dr. Subhash Pawar In Charge Principal

Shri Krushnarao Ingle (Ex MLA) President

Phone: 07266-295243

visit us at: www.acscwb.co.in

Email: 327accwb@gmail.com

SELF-DECLARATION

This is to certify that the information, reports, true copies of the supporting

documents, numerical data and weblinks furnished herein are verified by IQAC

and the head of institution and are found correct.

Cafina

IQAC Co-ordinator Arts and Commerce College, Warvat Bakal





Principal Arts & Commerce College, Warvat Bakal Dist.Buldena

Session 2017-2018

Link for the books and Chapters in edited volumes/books published and papers in Conference Proceedings:

Sr. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceeding s of the conference	Name of the conference	National / Internation al	ISBN/ISSN number of the proceeding
1	Dr. Subhash R. Gurjar	Economics of Panpimpri production				National	ISBN-978-1- 387-17585-7
2	Dr. Rajendra S. Korde		Terrorism	Contempor ary Issues and Indian Democracy	Contemporary Issues and Indian Democracy	National	
3	Dr. Rajendra S. Korde		Gandhian Philosophy of Sustainable Development	Emerging India		National	
4	Dr. Rajendra S. Korde		Socialism Thought of Pandit Nehru	Recent Political Developme nt in India		National	

Link of the Books, Chapters in Book & Research Papers in Conference Proceedings 2017-18
https://acscwb.co.in/wp-content/uploads/2023/06/book-chapter-proceeding-2017-18.pdf

Session 2020-2021

Link for the books and Chapters in edited volumes/books published and papers in Conference Proceedings:

Sr. No	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / Internationa 1	ISBN/ISSN number of the proceeding
1	Dr. Subhash R. Gurjar	Shahu maharaj yanchi Arthik Vichardhara				National	ISBN 978-81- 949503-7-0
2	Dr. Subhash R. Gurjar	Dadabhai Nauroji yancha Looticha Siddhant Va Daridrya vishayak vichar				National	ISBN 978-93- 9032-21-6
3	Dr. Subhash R. Gurjar	Banking: Concept and Operating system				National	ISBN 978-81- 953171-5-8
4	Nishigandh P. Satav	Effects of the COVID- 19 on current education system in India	COVID-19 and Higher Education In India: Challenges and Opportunities			National	ISBN 978-81- 926813-9-9
5	Mr. Gajanan S. Paikat		Vital Role of Sports In Fitness		Assessment and Accreditation of HEI by NAAC during COVID-19 Pandemic Era:Opportunities and Challeges	National	
6	Mr. Nagesh W. Ingle		Impact of COVID-19 on Education		One day Interdisciplinary National E- conference on "Impact of COVID-19 On Indian Economy	National	ISSN-2278- 9308
7	Mr. Nagesh W. Ingle		Perspective of Reseach Methodology		Interdisciplinary National E- conference on research in Interdisciplinary studies	National	ISSN-2319- 9318
8	Suresh R. Bhaltadak		Impact of COVID-19 on Savings		Impact of Covid- 19 on Indian Economy	National	ISSN-2278- 9308
9	Dr. Sanjay J. Tale		A Study on impact of COVID-19 on Education Sector		COVID-19 and its impact on Various factor	National	ISBN 978-81- 942797-4-7
10	DR. Megha R. Solanke	Current Upadates in Life Science	Morphometric and Qualitative Analysis Rotifer in upper Morna Reservoir, Medshi, Dist- Washim, M. S. India		Innovative Research Trends in Life Science	Internationa 1	ISBN-978-81- 982362182
11	DR. Megha R. Solanke	MCQ's In Zoology BSc II Semester III Life and Diversity of Chordate and Concept of Evolution	Unit III Class Aves and Mammals			National	ISBN- 13:978-93- 91331-14-6

3.3.2 Total number of books and chapters in books / conference Proceedings

12	DR. Megha R. Solanke	MCQ's In Zoology Semester IV Advance Genetics and Animal Ecology	Unit III Sex Determination		National	ISBN-13:978- 93-91331-44- 3
13	DR. Megha R. Solanke	MCQ's In Zoology BSc IIIAnimal Physiology and Economic Zoology	Unit V Agriculture Zoology and Economic Importance of Insects		National	ISBN- 13:978-93- 91331-15-3
14	DR. Megha R. Solanke	MCQ's In Zoology BSc III Semester VI Molecular Biology and Biotechnology	Unit IV Mutation		National	ISBN- 13:978-93- 91331-45-0
15	Dr. Madhuri S. Hingankar	MCQ's In Zoology BSc III Semester VI Molecular Biology and Biotechnology	Unit III Genetic Code		National	ISBN- 13:978-93- 91331-45-0
16	Miss. Sonali A. Tayade	MCQ's In Zoology BSc III Semester VI Molecular Biology and Biotechnology	Unit II DNA Replication		National	ISBN- 13:978-93- 91331-45-0

Link of the Books, Chapters in Book & Research Papers in Conference Proceedings 2020-21

https://acscwb.co.in/wp-content/uploads/2023/06/Book-Chapter-proceding-2020-21.pdf

Session 2021-2022

Sr. No	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceeding s of the conference	Name of the conference	National / International	ISBN/ISSN number of the proceeding
1	Dr. Subhash R. Gurjar	Economy of Maharashtra					9789391712334
2	Dr. Madhuri S. Hingankar	M.Sc.I SemI Practical l (Analytical Biochemistry and Instrumentation) Practical Handbook					9789355265180
3	Dr. Satish W. Rane	Indian Agriculture & Agriculture acts					9788195159970
4	Dr. Nishigandh P. Satav	International multidisciplinary E- conference on contribution of various aspects in nation building	Freedom movement in India: Spiritualism, Gandhism & anti- colonialism in Indian English writing	Internation al multidiscip linary E- conference on contributio n of various aspects in nation building	International multidisciplinary E- conference on contribution of various aspects in nation building	International	23956011
5	Dr. Nishigandh P. Satav	Patriotism in Worlds literature in English	Nationalism and Socialism portrayed in Indian English Novels				9789391305956
6	Dr. Nishigandh P. Satav	Golden Era in English Literature	Socio-political Concerns in Indian English Poetry				9788195159987
7	Mr. Nagesh W. Ingle	Golden Era in English Literature	University Wits				9788195159987

Link of the Books, Chapters in Book & Research Papers in Conference Proceedings 2021-22

https://acscwb.co.in/wp-content/uploads/2023/06/Book-chapter-proceding-2021-22.pdf